

TEMPORAL ASSOCIATION BETWEEN BODY COMPOSITION AND FUNCTIONAL CAPACITY ON LONG TERM FOLLOW-UP OF BARIATRIC SURGERY

Gabriela Correia de Faria Santarém^{*1, 2}, Roberto de Cleva,³ Alexandre Vieira Gadducci,⁴ Paulo Roberto Santos Silva,⁵ Julia Maria D'Andréa Greve and⁶ Marco Aurélio Santo

^{1,2,3,6}Department of Gastroenterology, University of São Paulo Medical School, São Paulo, São Paulo, Brazil.

^{4,5}Department of Orthopedics and Traumatology, University of São Paulo Medical School, São Paulo, São Paulo, Brazil.

Article Received on
02 August 2022,

Revised on 23 August 2022,
Accepted on 13 Sept. 2022

<https://doi.org/10.5281/zenodo.23035905>

*Corresponding Author

Gabriela Correia de Faria
Santarém

Department of
Gastroenterology,
University of São Paulo
Medical School, São Paulo,
São Paulo, Brazil, ORCID.

ABSTRACT

Background: Severe obesity reduces functional capacity. Total and segmental body composition after bariatric surgery may more accurately estimate functional capacity as assessed by the 6-minute walk test (6MWT) than the body mass index (BMI). **Objective:** To correlate the distance walked during 6MWT (6MWD) with BMI and body composition in the early (T1: 6 months) and late (T2: 36 months) postoperative period of bariatric surgery. **Methods:** Functional capacity was evaluated in 77 patients classified according to obesity grade before bariatric surgery (T0) in: Morbidly obese (MO: BMI 40 to 49.9 kg/m²) and super obese (SO: BMI 50 to 59.9 kg/m²) and according to the percentage of excess weight loss (%EWL) in T2: success group (SG: EWL ≥ 50%) and failure group (FG: EWL < 50%). **Results:** A

significant increase ($p < 0.001$) was found in the 6MWD between T0/T1 and T0/T2. There was also an increase ($p < 0.05$) of the 6MWD between T0/T1 and T0/T2 in MO and SO participants, with no significant difference ($p > 0.05$) between T1/T2 in both groups. There was a significant increase ($p < 0.05$) in 6MWD between T0/T2 in SG and FG participants. No significant difference ($p > 0.05$) was found in the 6MWD between MO/SO and SG/FG. At all times and groups, the 6MWD showed a moderate correlation ($p < 0.05$) with the percentage of fat free mass (FFM%) and fat free mass of lower limbs (FFMLL%) but not with BMI. **Conclusion:** Fat free mass (FFM) indicate better functional capacity on long-term follow-up

after bariatric surgery independently of obesity grade or successful weight loss. BMI is not the best predictor of functional capacity.

KEYWORDS: Obesity, morbid; Exercise test; Movement; Body composition; Anthropometry; Bariatric Surgery.

INTRODUCTION

Obesity is characterized by an excessive accumulation of adipose tissue associated with chronic systemic low-grade inflammation, with risk for the development of cardiovascular diseases, musculoskeletal disorders and some cancers.^[1]

Severe obesity impacts the locomotive system as a consequence of bio-mechanical overload in the joints of higher weight discharge^[2], which may negatively affect the functional capacity and quality of life.^[3-9]

Functional capacity may be evaluated by the ability to perform basic activities of daily living (ADL's). One of the most important ADL's is walking since motor displacement is necessary to perform most of the ADL's.^[10-17] The deleterious effects of adipose tissue distribution in relation to cardiovascular and metabolic risks are well established but musculoskeletal changes determined by obesity and segmental fat mass accumulation needs further studies. The association between increased BMI with osteoarthritis and decreased functional capacity are well known.^[18-23] Excess fat mass in the lower limbs determines biomechanical disadvantage with consequent changes in gait pattern. Segmental fat accumulation favors misalignment of the knee joint (genu valgus), with altered motor performance such as reduced speed, shorter swing time and increased lower limbs support base during motor displacement.^[24-28]

In fact, body composition after bariatric surgery may more accurately estimate functional capacity as assessed by the 6-minute walk test (6MWT) than the body mass index (BMI). A recent longitudinal trial^[30] determined that fat free mass and skeletal muscle mass reduced significantly in the first postoperative year and remained stable between one and five years after bariatric surgery. Santarém *et al.*^[29] observed in patients with severe obesity that distance walked during 6MWT (6MWD) was similar to healthy individuals (514.9 ± 50.3 m). There were a better correlation of 6MWD with the percentage of fat free mass (FFM %) and fat free mass of lower limbs (FFMLL %) ($r: 0.5$; $p < 0.001$) than with BMI ($r: -0.3$; $p < 0.001$).

We hypothesise that patients with higher FFM % after bariatric surgery will have better functional capacity.

The aim of our study was to correlate the distance walked during the 6MWT (6MWD) with BMI and body composition according to the obesity grade and surgical success or failure in the early and late postoperative period of bariatric surgery.

MATERIALS AND METHODS

Participant recruitment

Seventy-seven participants with severe obesity (age: 39.3 ± 9.5 years, BMI: 47.9 ± 4.8 kg/m²) were recruited at Metabolic and Bariatric Surgery Unit, Hospital das Clínicas, University of São Paulo Medical School. All participants had a BMI between 40 and 60 kg/m² and age between 18 and 60 years.

The study protocol was performed according to the ethical recommendations of the Declaration of Helsinki and was approved by the Ethical Committee of the Hospital das Clínicas, University of São Paulo Medical School (protocol number 01038912.6.0000.0068) and conducted after the participants signed the consent form. Body composition and 6MWT were before, 6 (T1) and 36 (T2) months after Roux-en-Y gastric bypass. Twenty-two participants did not attend and were excluded after 36 months. The participants were classified before surgery (T0) according to obesity grade in morbidly obese (MO: BMI 40 to 49.9 kg/m²; n =49) and superobese (SO: BMI 50 to 59.9 kg/m²; n =28). In T2, participants were classified according to the percentage of excess weight loss (%EWL) in success group (SG: % EWL $\geq$ 50; n =35) and failure group (FG: % EWL <50; n =20).

Anthropometric measurements and body mass composition

Body composition was evaluated by anthropometry and bio-electrical impedance analysis (BIA). Height and body weight were measured with participants barefoot and light clothing to the nearest 0.5 cm and 0.1 kg, respectively. BMI was calculated by dividing the body weight in kilograms by the height in square meters (kg/m²). Body composition was determined by BIA (Biospace Co., InBody 230®, USA) under constant conditions (proper hydration and same time of day). The participant was positioned in orthostatic position on a platform with lower electrodes for feet and the hands holding the upper electrodes. The body impedance vector components, resistance and reactance were measured using two different frequencies (20 and 100 KHz). BIA determined in percentage values: fat mass (FM %), fat

free mass (FFM %), fat free mass of upper limbs (FFMUL %), fat free mass of trunk (FFMT %), fat free mass of lower limbs (FFMLL %), fat mass of upper limbs (FMUL %), fat mass of trunk (FMT %) and fat mass of lower limbs (FMLL %).

Six-minute walk test

All participants performed a standardized^[31], self-paced 6MWT in a 36-meter long corridor marked every 3 m with colored tape on the floor. They were instructed to walk the longest distance possible within six minutes without running. Participants were allowed to stop any moment of the test, but were encouraged to restart as soon as possible. Standardized encouragement and announcement of remaining time were given to all participants.^[31] The basal heart rate (HR), oxy-hemoglobin saturation (Ana Wiz. ANP 100[®]. China), fatigue and dyspnea scores (Borg scale)^[32] and arterial blood pressure (Omron Healthcare Co[®]. LTD. Japan) were obtained from all participants before and after the test.

Statistical analysis

A convenience sampling of participants in the preoperative bariatric surgery was used (n =77) in this prospective observational study. All data were presented as mean, standard deviation and 95% confidence intervals. The association of the studied variables (6MWD with anthropometric measurements and body mass composition) was evaluated through the Pearson and Spearman correlation. Unpaired T-test and Mann-Whitney was used to determine inter-group (MO and SO, SG and FG groups) differences in numerical data. A $p < 0.05$ value was considered as significant.

RESULTS

Anthropometric measurements and body mass composition

The anthropometry and body mass composition data of the participants are presented in Table 1. There was a significant difference ($p < 0.001$) between T0/T1 and T0/T2 in BMI and all body composition variables, but no significant difference ($p > 0.05$) between T1/T2.

The anthropometry data according to obesity grade are presented in Table 2. There was a significant difference ($p < 0.001$) between T0/T1 and T0/T2 in MO and SO groups in body composition variables without difference ($p > 0.05$) between T1/T2. There was a significant difference ($p < 0.05$) between MO and SO in T0 and T1 in all anthropometrics variables, except FFMT % and FMT % in T0. Only FM % had a significant difference ($p < 0.001$) between MO and SO in T2.

The anthropometry data according to % EWL are presented in Table 3. There was a significant difference ($p < 0.001$) between T0/T2 in both SG and FG and between SG and FG in T2 in all anthropometric variables.

Six-minute walk test

The 6MWT results are summarized in Figure 1. All participants completed the 6MWT without premature end or breaks, and no complications have occurred during the test. There was a significant increase ($p < 0.05$) in the 6MWD between T0/T1 and T0/T2 without difference ($p = 0.073$) between T1/T2.

The 6MWT results according to obesity grade are presented in Figure 2a and 2b. There was a significant difference ($p < 0.05$) in the 6MWD between T0/T1 and T0/T2, but no significant difference ($p > 0.05$) between T1/T2 in MO and SO groups. There was no significant difference ($p > 0.05$) between MO and SO in T0, T1 and T2. The 6MWT results according to %EWL are summarized in Figure 3a and 3b. There was a significant difference ($p < 0.05$) in the 6MWD between T0/T2 in FG and SG. No significant difference ($p = 0.468$) was found between FG and SG in T0, T1 and T2.

Correlation between body composition and 6MWD

The correlations between body composition and 6MWD are presented in Table 4. A positive correlation ($p < 0.001$) was found between 6MWD and FFM%, FFMUL %, FFMT %, FFMLL% and a negative correlation ($p < 0.05$) with FM %, FMUL % and FMT %.

In MO group the 6MWD presented a positive correlation ($p < 0.05$) with FFM %, FFMUL %, FFMT % and FFMLL % and a negative correlation ($p < 0.05$) with FM %, FMUL % and FMT %.

In SO group the 6MWD presented a significant correlation ($p < 0.05$) FFM %, FFMUL %, FFMT % and FFMLL % and a negative correlation ($p < 0.05$) with FM %, FMUL %, FMT % and FMLL %.

In FG group the 6MWD presented a positive correlation ($p < 0.05$) with FFM %, FFMUL %, FFMT % and FFMLL % and a negative correlation ($p < 0.05$) with FMUL %.

In SG group the 6MWD presented a positive correlation ($p < 0.05$) with FFM %, FFMUL %, FFMT % and FFMLL % and negative correlation ($p < 0.05$) with FM %, FMUL % and FMT

%.

There was no significant correlation ($p > 0.05$) between the 6MWD with BMI in all groups.

DISCUSSION

In the present study, 6MWD in patients with severe obesity was 518.6 ± 50.2 m, a performance similar to healthy individuals, a result in agreement with previous studies.^[33-37] Other series^[38-40] observed a lower 6MWD, considering the low performance a consequence of excess body weight, increased sensation of dyspnea, lower limb fatigue or skin friction during motor displacement. Nevertheless, a critical analysis suggests that inadequate methodology (not using ATS recommendations) and factors related to the individual (age, cardiopulmonary or musculoskeletal diseases) may have negatively influenced the 6MWD in these series.^[31,41] Our patients with severe obesity had adequate functional performance when evaluated according to ATS recommendations.^[31] The better preoperative functional capacity found in our study could be at least partly explained by total and segmental FFM % (r : 0.4 to 0.6; $p < 0.001$). BMI was not correlated with the 6MWD (r : -0.1; $p > 0.05$) and cannot be considered a predictor of functional capacity. Our data corroborate a study^[29] that showed a poor correlation between the 6MWT and BMI ($r = -0.3$; $p < 0.001$) and better correlations with body composition, unlike other series that suggests with weak to strong correlations (r : -0.45 to -0.85) between the 6MWD and BMI.^[33-36,42]

The significant improvement in 6MWD observed after surgery was assigned to decreased body weight and improved sensation of dyspnea.^[27-30] We observed an increase in the 6MWD after surgery with significant difference ($p < 0.001$) between patients at T0/T1 (23 m) and T0/T2 (41 m). The no significant improvement ($p = 0.073$) in 6MWD between T1/T2 (18 m) could be explained by the no significant increase ($p > 0.05$) in FFM % and FFMLL %. There was also a significant increase ($p < 0.05$) in 6MWD between T0/T1 (23 m) and T0/T2 (41 m) in MO patients without improvement ($p > 0.05$) between T1/T2 (3 m). Previous studies^[28-30,34] showed a greater motor displacement than our study (120 m) after surgical intervention (6-12 months). However, in these studies patients had a lower 6MWD before, which could explain greater motor displacement after surgery. Our results suggest the FFM % and FFMLL % are the best predictors of functional capacity in MO with moderate to strong positive correlations (r : 0.4 to 0.7; $p < 0.05$) with the 6MWD. Similarly, SO participants showed a significant improvement ($p < 0.05$) in motor displacement between T0/T1 (28 m) and T0/T2 (45 m), but also without significant improvement between T1/T2 (15 m). The 6MWD also

showed positive and strong correlations with FFM % and FFMLL %.

Our results showed a significant increase in the 6MWD between T0/T2 in SG and FG patients (38 m and 36 m, respectively; $p < 0.05$) and moderate to strong positive correlations (r : 0.4 to 0.7; $p < 0.05$) with total and segmental FFM %. Only one study was found in the literature correlating %EWL with 6MWD, showing a moderate positive correlation with 6MWD (r : 0.48; $p < 0.05$). No studies were found in the literature that assessed long-term functional capacity in patients after surgical intervention. Independently of obesity grade or surgical success, we observed an improvement in functional capacity justified by body composition alterations rather than by a significant reduction in body weight and BMI.

A better functional capacity was observed in patients undergoing physical exercise programs after surgery.^[37-39] Our data corroborate that the treatment of severe obesity should not be exhausted in bariatric surgery. Continuous interventions aiming at a significant increase in FFM and, especially FFMLL, should be considered to promote better long-term functional capacity after surgery.

CONCLUSIONS

Total and segmental body fat free mass indicates better functional capacity than BMI. The best functional capacity is associated with FFMLL %, independently of obesity grade or weight loss after bariatric surgery. Continuous interventions aiming to increase total FFM, especially FFMLL, should be considered in order to promote better long-term functional capacity after bariatric surgery.

ACKNOWLEDGEMENT

This study was financed in part by the Coordenação de Aperfeiçoamento de Pessoal de Nível Superior - Brasil (CAPES) - Finance Code 001.

REFERENCES

1. World Health Organization. WHO Global status report on noncommunicable diseases 2010 [Internet]. Geneva: World Health Organization; 2016 [citado 25 Aug. 2019]. Disponível em: http://www.who.int/nmh/publications/ncd_report2010/en/.
2. Felson DT. Does excess weight cause osteoarthritis and, if so, why? *Annals of the Rheumatic Diseases*. Sep, 1996; 55(9): 668-70.
3. Browning RC, Baker EA, Herron JA, Kram R. Effects of obesity and sex on the energetic

- cost and preferred speed of walking. *J Appl Physiol*, Feb, 2006; 100(2): 390-8.
4. Hulens M, Vansant G, Claessens AL, Lysens R, Muls E. Predictors of 6-minute walk test results in lean, obese and morbidly obese women. *Scand J Med Sci Sports*, Apr, 2003; 13(2): 98-105.
 5. Cooper C, Inskip H, Croft P, Campbell L, Smith G, McLaren M, Coggon D. Individual risk factors for hip osteoarthritis: obesity, hip injury, and physical activity. *Am J Epidemiol*, Mar, 1998; 147(6): 516-22.
 6. Hulens M, Vansant G, Claessens AL, Lysens R, Muls E. Exercise capacity in lean versus obese women. *Scand J Med Sci Sports*, Oct, 2001; 11(5): 305-9.
 7. Wen LM, Orr N, Millett C, Rissel C. Driving to work and overweight and obesity: findings from the 2003 New South Wales Health Survey, Australia. *Int J Obes*, May, 2006; 30(5): 782-6.
 8. Hemmingsson E, Ekelund U. Is the association between physical activity and body mass index obesity dependent? *Int J Obes*, Apr, 2007; 31(4): 663-8.
 9. Anandacoomarasamy A, Caterson I, Sambrook P, Fransen M, March L. The impact of obesity on the musculoskeletal system. *Int J Obes*, Feb, 2008; 32(2): 211-22.
 10. de Souza SA, Faintuch J, Valezi AC, Sant' Anna AF, Gama-Rodrigues JJ, de Batista Fonseca IC, Souza RB, Senhorini RC. Gait cinematic analysis in morbidly obese patients. *Obes Surg*, Oct, 2005; 15(9): 1238-42.
 11. de Souza SA, Faintuch J, Fabris SM, Nampo FK, Luz C, Fabio TL, Sitta IS, de Batista Fonseca IC. Six-minute walk test: functional capacity of severely obese before and after bariatric surgery. *Surg Obes Relat Dis*, Sep-Oct, 2009; 5(5): 540-3.
 12. Larsson UE, Mattsson E. Functional limitations linked to high body mass index, age and current pain in obese women. *Int J Obes Relat Metab Disord*, Jun, 2001; 25(6): 893-9.
 13. Coakley EH, Kawachi I, Manson JE, Speizer FE, Willet WC, Colditz GA. Lower levels of physical functioning are associated with higher body weight among middle-aged and older women. *Int J Obes Relat Metab Disord*, Oct, 1998; 22(10): 958-65.
 14. Mattsson E, Larsson UE, Rössner S. Is walking for exercise too exhausting for obese women? *Int J Obes Relat Metab Disord*, May, 1997; 21(5): 380-6.
 15. Lai PP, Leung AK, Li AN, Zhang M. Three-dimensional gait analysis of obese adults. *Clin Biomech*, Apr, 2008; 23(1): 2-6.
 16. Larsson U, Karlsson J, Sullivan M. Impact of overweight and obesity on health-related quality of life - a Swedish population study. *Int J Obes Relat Metab Disord*, Mar, 2002; 26(3): 417-24.

17. Kolotkin RL, Meter K, Williams GR. Quality of life and obesity. *Obes Rev.*, Nov, 2001; 2(4): 219-29.
18. Clark DO, Stump TE, Wolinsky FD. Predictors of onset of and recovery from mobility difficulty among adults aged 51-61 years. *Am J Epidemiol*, Jul, 1998; 148(1): 63-71.
19. Davison KK, Ford ES, Cogswell ME, Dietz WH. Percentage of body fat and body mass index are associated with mobility limitations in people aged 70 and older from NHANES III. *J Am Geriatr Soc.*, Nov, 2002; 50(11): 1802-9.
20. Ferraro KF, Su Y, Gretebeck RJ, Black DR, Badylak SF. Body Mass Index and Disability in Adulthood: A 20-Year Panel Study. *American Journal of Public Health*, May, 2002; 92(5): 834-40.
21. Jensen GL, Friedmann JM. Obesity is associated with functional decline in community-dwelling rural older persons. *J Am Geriatr Soc.*, May, 2002; 50(5): 918-23.
22. Ostbye T, Taylor DH Jr, Krause KM, Van Scoyoc L. The role of smoking and other modifiable lifestyle risk factors in maintaining and restoring lower body mobility in middle-aged and older Americans: results from the HRS and AHEAD. *Health and Retirement Study. Asset and Health Dynamics Among the Oldest Old. J Am Geriatr Soc.*, Apr, 2002; 50(4): 691-9.
23. Gadducci AV, de Cleva R, Santarém GC de F, Silva PRS, Greve JMD, Santo MA. Muscle strength and body composition in severe obesity. *Clinics*, May, 2017; 72(5): 272-75.
24. McGraw B, McClenaghan BA, Williams HG, Dickerson J, Ward DS. Gait and postural stability in obese and nonobese prepubertal boys. *Arch Phys Med Rehabilitation*, Apr, 2000; 81(4): 484-9.
25. Cacheupe WJC, Shifflett B, Kahanov L, Wughalter EH. Reliability of Biodex Balance System measures. *Meas Phys Educ Exerc Sci.*, Nov, 2001; 5(2): 97-108.
26. Ledin T, Odkvist LM. Effects of increased inertial load in dynamic and randomized perturbed posturography. *Acta Otolaryngol*, May, 1993; 113(3): 249-52.
27. Radin EL, Paul IL, Rose RM. Role of mechanical factors in pathogenesis of primary osteoarthritis. *Lancet*, Mar, 1972; 1(7749): 519-22.
28. Specogna AV, Birmingham TB, Hunt MA, Jones IC, Jenkyn TR, Fowler PJ, Giffin JR. Radiographic measures of knee alignment in patients with varus gonarthrosis: effect of weightbearing status and associations with dynamic joint load. *Am J Sports Med.*, Jan, 2007; 35(1): 65-70.
29. Santarém GCF, de Cleva R, Santo MA, Bernhard AB, Gadducci AV, Greve JMDA, Silva

- PRS. Correlation between body composition and walking capacity in severe obesity. *PLoS One*, Jun, 2015; 10(6): e0130268.
30. Davidson LE, Yu W, Goodpaster BH, et al. Fat-Free Mass and Skeletal Muscle Mass Five Years After Bariatric Surgery. *Obesity*, 2018; 26: 1130-1136.
31. ATS Committee on Proficiency Standards for Clinical Pulmonary Function Laboratories. ATS statement: guidelines for the six-minute walk test. *Am J Respir Crit Care Med.*, Jul, 2002; 166(1): 111-7.
32. Borg GA. Psychophysical bases of perceived exertion. *Med Sci Sports Exerc.*, 1982; 14(5): 377-81.
33. Larsson UE, Reynisdottir S. The six-minute walk test in outpatients with obesity: reproducibility and known group validity. *Physiother Res Int.*, Jun, 2008; 13(2): 84-93.
34. Baillot, Aurelie & Vibarel-rebot, Nancy & Lecoq, AM & Chadenas, D. (2009). Le test de marche de six minutes chez les femmes obèses: reproductibilité, intensité relative et relation avec la qualité de vie. *Science & Sports*, Feb, 2009; 24(1): 1-8.
35. Perecin JC, Domingos NC, Gastaldi AC, Souza TC, Cravo SLD, So-loguren MJJ. Six-minute walk test in obese and eutrophic adults. *Rev Bras Fisioter*, Dec, 2003; 7(3): 245-51.
36. Gontijo PL, Lima TP, Costa TR, et al. Correlation of spirometry with the six-minute walk test in eutrophic and obese individuals. *Rev. Assoc. Med. Bras*, Aug, 2011; 57(4): 387-93.
37. Stegen S, Derave W, Calders P, Van Laethem C, Pattyn P. Physical fitness in morbidly obese patients: effect of gastric bypass surgery and exercise training. *Obes Surg.*, Jan, 2011; 21(1): 61-70.
38. Donini LM, Poggiogalle E, Mosca V, Pinto A, Brunani A, Capodaglio P. Disability affects the 6-minute walking distance in obese subjects (BMI>40 kg/m²). *PLoS One.*, Oct, 2013; 8(10): e75491.
39. Tamura Lilian Sarli, Cazzo Everton, Chaim Elinton Adami, Piedade Sérgio Rocha. Influence of morbid obesity on physical capacity, knee-related symptoms and overall quality of life: A cross-sectional study. *Rev. Assoc. Med. Bras*, Feb, 2017; 63(2): 142-47.
40. Soares KKD, Gomes ELFD, Beani JA, Oliveira LVF de, Sampaio LMM, Costa D. Evaluation of physical and functional respiratory performance in obese. *Fisioter mov.*, Dec, 2011; 24(4): 697-704.
41. Wu G, Sanderson B, Bittner V. The 6-minute walk test: how important is the learning effect? *Am Heart J.*, Jul, 2003; 146(1): 129-33.

42. Lopes TJA, Freitas CRB; Bruno SS. Assessment of walking capacity and physical activity level of morbidly obese patients before and after bariatric surgery. *Revista Terapia Manual*, Jul, 2010; 38(2): 43-53.